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Subject code: 350904
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Date: 24/06 /2011

Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(@)
(b)

Divide (10000111), by (101),

Convert Hexadecimal to Octal (1) (A72E)16 =( )8
Convert Octal to Decimal (1) (1035)s =( )10
Convert Hexadecimal to Binary (1) (75DC);6 = ( )2

Multiply (10111), by (101),
Subtract (111001), from (1110001),
Find 2’s complement of 10011
Explain in detail how Transistor work as a switch.
Prove that NOR gate is Universal gate with truth tables.
OR
Explain RTL & DTL logic circuit with the help of one gate.
With the help of logic diagram and truth table explain Half adder
and Full adder.
State and explain De Morgan’s theorems.
OR
Prove the following using Boolean algebra:
(i) A+AB+AB= A+B
(ii) AB+CD=A+C)(A+D)(B+C)(B+D)
Draw the logic diagram for the following Boolean Expression:
(i) Y= AB+AB+C
(ii)) Y=AD +BCD + BCD
Draw the circuit of JK flip-flop and explain its working with
waveforms.
Draw and explain the circuit of decade counter with waveforms.
OR
What is meant by decoder? Draw and explain the circuit of 3 x 8
decoder.
Draw and explain the block diagram of ROM. Explain types of
ROM.
Explain the construction and working of LCD.
State the types of A/D converter and explain any one type.
OR

Draw and explain the circuit of 4-bit binary ladder network type D/A

converter.
Draw the block diagram and explain the working of staircase type
digital voltmeter.
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(1)
(if)
(iii)
(iv)
(v)
(vi)
(vii)

(10000111), & (101), ad ewdl

353U Hc Hiell AsecMl ¥RA (i) (A72E)is =( )8
wllsed Hill 3AHA ¥ (i) (1035)5 =( )10
353U Hiell cllatet ML ¥ (i) (75DC)i6 = ( )

(10111), ol (101), a3 djal.
(1110001), il (111001), ®lE 3.
10011 o 2’s SLcllRoe 2.

2leeR [l A3y 58 A sl 52 B A [Qotdar UuHsA.

NOR e ud@s Age & A g 2ud AR A U A
YL
As Aol Heeddl RTL ol DTL Al%)s USle AHxA.

AlYs SLAUM ol g A U 615 SR Ul A AUSR
ULl

S Aoletotl YN vl el YHostal.
YL
ocllatet AAullell GUAL 53 o{lAeil UEL UGt 53A:
(i) A+AB+AB= A+B
(ii)) AB+CD=A+C)(A+D)(B+C)(B+D)
oA g2ldd ojcllast WsUY 2ot Mol AYs URUY ERL:
(i) Y= AB+AB+C
(ii) Y=AD +BCD + BCD
JK sellu sclusdl u2sle €131 dasiial Aldd sl auestdl.

d3s s1GoeR0e(l URSle €131 Al U sl YHHLAL

2Yql

SlslsR AeA 9j? 3 x 8 slslsell uRsle €131 unendl,
ROM oll 6ClS SLRAUH ELZL UM A ROM oll UsIAL -,

LCD ofl 2Uall A&l 5121 AH1l.
A/D setcléall yYstA el A 48l sleurl As Qo

AHosA.
YL
4-0{l2 cllaat3 AR Aedd Uslell D/A sotcéell sle €131

AHosLA.
RFBU UslRall A/D Solcdeell GUL 53 Slwed
AdlceHleRal eclls staualH €131 sl uxestal.
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